Treated Pine Swingbed

ltermns: FTSBED48CH, FTSBED48CO, FTSBED48CR, FTSBED48CU, FTSBED48FB, FTSBED48HB, FTSBED48HH,
FTSBED48RE, FTSBED48STE, FTSBED&OCH, FTSBEDSOCO, FTSBEDGOCR, FTSBEDGOCL, FTSBEDGOFB,
FTSBED&0OHB, FTSBEDSOHH, FTSBEDGORE, FTSBEDGOSTE

|

11

11

11

Hardware

12- 1/4x31/4" carriage bolts
12- flange nuts
4- 3/8"eye bolts (5"long)
4- 3/8"lock nuts
8- 3/8"flat washers
4- lengths of chain ( 7'long)
(all 4 chains go all the way to the ceiling)
4- Connecting links (used to hook chains to eyebolts)

Assembly Instructions

1. Fasten back to seat
using a hammer to
tap 1/4" carriage bolts in.

2. Fasten arms to seat
and back.

Note: One of the holes

in the front arm post is
larger for the eyebolt.

5 Eyebolts go through
/the arm and the seat support.

Tools

o Hammer
1- 3/8 flat washer on the inside 7/16 wrench
/_ 9/16 wrench

e

O

1- 3/8 flat washer on the outside



